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                                                                             TEST -  1 

PAPER – 1 

 ACCOUNTING 

VSMART ACADEMY EXAMPREP 

  SUGGESTED ANSWERS 

  
1(a) Although legal title has not been transferred, the economic reality and substance is that the rights  

and  beneficial interest in  the immovable  property have been transferred. Therefore, recording of 
acquisition/disposal (by the transferee and transferor respectively) would, in substance, represent 
the purchase/sale. In view of this A Ltd., should record the sales and recognize the profit of ₹ 15 lakhs 
in its profit and loss account. It should eliminate building from its balance sheet.  In notes to accounts, 
it should disclose that building has been sold, full consideration has been received, possession has 
been handed over to the buyer and documentation and legal formalities are pending. 
The buyer should recognize the building as an asset in his balance sheet and charge depreciation on 
it. The buyer should disclose in his notes to account that possession has been received however 
documentation and legal formalities are pending. 
 

1(b) As per Accounting Standard 2  “Valuation of Inventories”, cost of inventories comprises all costs of 
purchase, costs of conversion and other costs incurred in bringing the inventories to their present 
location and condition.  However, it makes clear that interest and other borrowing costs are usually 
not included in the cost of inventories because generally such costs are not related in bringing the 
inventories to their present location and condition.  Therefore, the proposal of CC Ltd. to include 
interest on bank overdraft as an element of cost is not acceptable because it does not form part of 
cost of production. 
 

1(c) 1. As per AS 13 "Accounting for Investments", current investments should be carried at cost or 
fair value, whichever is lower. Here, the current Investment should be carried at fair value of 
₹ 48 Lakhs; being the lower of ₹ 60 Lakhs (cost) or ₹ 48 Lakhs (fair value). The difference of ₹ 
12 Lakhs should be charged to profit and loss account. 

2. Current investment should be carried at cost or fair value, whichever is lower. In the given 
case, the current investments should be carried at cost of ₹ 86 Lakhs, being the lower of ₹ 86 
Lakhs (cost) or ₹ 90 Lakhs (fair value). 

 
1(d) As per AS 14 on Accounting for Amalgamations, the term „consideration‟ has been defined 

as the aggregate of the shares and other securities issued and the payment made in the form 
of cash or other assets by the transferee company to the shareholders of the transferor company 

The payment made by transferee company to discharge the Debenture holders and outside 
liabilities and cost of winding up of transferor company shall not be considered as part of purchase 
consideration. 

Computation of Purchase Consideration 

 

 ₹ 

Cash payment [₹ 15 x 1,50,000] 22,50,000 

11% Preference Shares of Rs. 10 each @ 10% discount 

[(1,50,000 x 3/5) x ₹ 9] 

8,10,000 

Equity shares of ₹ 10 each @ 20% premium 

[(1,50,000 x 4/5) x ₹ 12] 

14,40,000 

Total Purchase consideration 45,00,000 

For every 5 shares Anjana Ltd. will receive (i) 4 equity shares @ ₹ 12 per share and (ii) 3 11% 
Preference Shares @ ₹ 9 per share. 
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3a)  
Schedule of Profit or Loss on Sales 

(Average cost method) 
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3b)  
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5 (a) 

 



Page 11 of 14 
 

 
 

 
(b) While choosing the accounting software, the following points should be considered: 

1. Fulfillment of business requirements: 

Some packages have little functionality more than the others.  The purchaser may try 
to match his requirement with the available solutions. 

2. Completeness of reports:  

Some packages might provide extra reports or the reports match the requirements 
more than the others. 

3. Ease of Use:  

Some packages could be very detailed and cumbersome compare to the others. 

4. Cost:  

The budgetary constraints could be an important deciding factor.  A package having 
more features cannot be opted because of the prohibitive costs. 

5. Reputation of vendor:  

Vendor support is essential for any software.  A stable vendor with good reputation 
and track records will always be preferred. 

6. Regular updates:  

Law is changing frequently.  A vendor who is prepared to give updates will be 
preferred to a vendor unwilling to give updates. 

 
(c) 1. Hire Purchaser gets possession of the goods at the outset and can use it, while paying for 

it in instalments as per the agreement.  
2. The ownership of the goods remains with the Hire Vendor until the all the instalments.  
3. Each instalment paid by the hire purchaser is treated as hire charges for using the asset.  
4. In case he fails to pay any of the instalments (even the last one) the hire vendor will take 

back his goods without compensating the buyer, i.e., the hire vendor is not going to pay 
back a part or whole of the amount received through instalments till the date of default 
from the buyer. 
 

6 
 

Cash Flow Statement of ABC Ltd. for the year ended 31.3.2017 
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Cash flows from Operating Activities ₹ ₹ 

Net Profit 22,40,000  

Add: Adjustment for Depreciation  (₹  7,90,000 - ₹  6,10,000) 1,80,000  

Operating profit before working capital changes 24,20,000  

Add: Decrease in Inventories (₹  20,10,000 - ₹  19,20,000) 90,000  

Increase in provision for doubtful debts 

(₹  4,20,000 - ₹  1,50,000) 

2,70,000  

 27,80,000  

Less: Increase in Current Assets: 27,80,000 
 

 

Trade receivables (₹  30,60,000 - ₹  23,90,000)                            
6,70,000 

  

Prepaid expenses (₹  1,20,000 - ₹  90,000)                                   
30,000 

  

Decrease in current liabilities:   

Trade payables (₹  8,80,000 - ₹  8,20,000)                                    
60,000 

  

Expenses outstanding (₹  3,30,000 - ₹  2,70,000)                         
60,000 

(8,20,000)  

Net cash from operating activities  19,60,000 

Cash flows from Investing Activities 
  

Purchase of Plant & Equipment (₹  40,70,000 - ₹  27,30,000) 13,40,000 
 

Net cash used in investing activities  (13,40,000) 

Cash flows from Financing Activities   

Bank loan raised (₹  3,00,000 - ₹  1,50,000) 1,50,000  

Issue of debentures 9,00,000  

Payment of Dividend (₹  12,00,000 - ₹  1,50,000) (10,50,000)  

Net cash used in financing activities  NIL 

Net increase in cash during the year  6,20,000 

Add: Cash and cash equivalents as on 1.4.2016  

(₹  15,20,000 + ₹  11,80,000) 

 27,00,000 

 

Cash and cash equivalents as on 31.3.2017  

(₹  18,20,000 + ₹  15,00,000) 
 33,20,000 

  

Note: Bad debts amounting Rs.  2,30,000 were written off against provision for doubtful 
debts account during the year.  In the above solution, Bad debts have been added back in the 
balances of provision for doubtful debts and trade receivables as on 31.3.2017.  Alternatively, the 
adjustment of writing off bad debts may be ignored and the solution can be given on the basis 
of figures of trade receivables and provision for doubtful debts as appearing in the balance sheet 
on 31.3.2017. 
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 (c) The following are the points of distinction between The pooling of interests method and 
The purchase method of recording transactions relating to amalgamation: 

 

1. The pooling of interests method is applied in case of an amalgamation in the nature of 
merger whereas purchase method is applied in the case of an amalgamation in the 
nature of purchase. 

2. In the pooling of interests method all the reserves of the transferor company are also 
recorded by the transferee company in its books of account while in the purchase 
method the transferee company records in its books of account only the assets and 
liabilities taken over, the reserves, except the statutory reserves, of the transferor 
company are not aggregated with those of the transferee company. 

3. Under the pooling of interests method, the difference between the consideration paid 
and the share capital of the transferor company is adjusted in the general reserve or 
other reserves of the transferee company. Under the purchase method, the difference 
between the consideration and net assets taken over is treated by the transferee 
company as goodwill or capital reserve. 

4. Under the pooling of interests method, the statutory reserves are recorded by the 
transferee company like all other reserves without opening amalgamation adjustment 
account. In the purchase method, while incorporating statutory reserves the transferee 
company has to open amalgamation adjustment account debiting it with the amount 
of the statutory reserves being incorporated. 

 

 (d) Disadvantages of a spreadsheet as an accounting tool are as follows: 

1. Spreadsheet has data limitations. Depending upon the package, it can accept data 
only up to a specified limit. 
 

2. Simultaneous access on a network may not be possible. Many of the modern 
softwares allow locking of the table when updation is taking place. This is not 
possible in a spread sheet. 

 

3. Double entry is not automatically completed in Spread Sheet. Formulas or other 
means have to be adopted to complete the double entry. 

 

4. Reports are not automatically formatted and generated but have to be user 
controlled. Each time a report has to be printed, settings have to be checked and 
data range has to be set. In many accounting softwares this is automatically taken 
care of by the program. 

 
 


